
cos(sin(x cos(x + y)/y)− y)



Formula lost



sin(x− cos(y − sin(x))− y)− y/x



cos(x− y/ sin(x))− sin(y − x/y/ sin(y))



sin(x− cos(x + y/x)− sin(y − sin(x + y))− sin(y/x)



cos(x sin(y−x)+cos(y))+sin(y) cos(x−y sin(x−cos(y)))



cos(x sin(y−x)+cos(y))+sin(y) cos(x−y sin(x−cos(y)))



sin(x− cos(y))− sin(abs(y − sin(x))cos(x−sin(y))+2 sin(y))



sin(cos(sin(cos(sin(x + y/x) + x/y) + x) + y) + y)



sin(cos(xy)− cos(y/x) + sin(cos(x) + y) + y)



sin(cos(xy)− cos(y + x) + sin(cos(x) + y) + x + y)



sin(x cos(y) + x cos(y + sin(x))) + sin(cos(x)) + rand(100)/300



sin(x cos(y) + x cos(y + sin(x))) + sin(cos(x)) + rand(100)/300



√
abs(x) sin(x cos(y + x cos(y))) + x cos(y + cos(x)) + rand(100)/ sin(x2)/200 + rand(100)/ sin(y2)/200



√
abs(x) sin(x cos(y + x cos(y))) + x cos(y + cos(x)) + rand(100)/ sin(x2)/60 + rand(100)/ sin(y2)/60



√
abs(x) sin(x cos(y + x cos(y))) + x cos(y + cos(x)) + rand(100)/ sin(3x/y)/120 + rand(100)/ sin(xy)/120



sin(cos(x + y sin(x) + cos(y))) + sin(xy + sec(x))



sin(cos(x + y sin(x) + cos(y))) + sin(xy + sec(x))



x&(y − x)



sin(cos(x + sin(y)x))& cos(y + sin(xy)



(sin(cos(x) + sin(y))& sin(y + cos(x)y))/10 + sin(x + cos(xy))



(sin(cos(x)+sin(y))& sin(y+cos(x)y))/2+sin(x+cos(xy))



cos(x + cos(y))% sin(y sin(x))% sin(x + cos(y))



cos(x + cos(y))% sin(y% sin(x))% sin(x + cos(y))



cos(x + cos(y)x%y)% sin(y% sin(x))% sin(x% cos(y% sin(x)))



abs(sin(x)% cos(y))cos(y%x) + (x& cos(y))%10



(x + y)% sin(x− y) + (cos(x + y)& sin(xy)).3 + rand(100)/300



(x + y)% sin(x− y) + (cos(x + y)& sin(xy))x + rand(100)/300



(x + y)% sin(x− y) + (cos(x + y)& sin(xy))y/x + rand(100)/300



sin(x% cos(y))% cos(y + sin(x)) + cos(y)



(sin(x)− cos(y)) floor((sin(x) + cos(y)))



sin(x + cos(y − cos(x)y) + x sin(y)) + rand(100)/400



tan(x%y) + sec(y/x) + sin(x + y) + cos(sec(x)%y) + sin(y + cos(x + sin(y − x) + x sin(y)))



x sin(x)%(y sin(y))



sin(x + y) + sin(x− y − rand(10)/10)x



sin(x%y) cos(x) cos(y)



sin(x%y) cos(x) cos(y)floor(cos(x+3 sin(y−x)))



sin(x%y) cos(x) cos(y)floor(cos(x+3 sin(y−x)))



abs(sin(x%y))floor(cos(x)22+1)%(sin(x)2) + y% sin(y − cos(x))



xy&y/x10



100xy&x/y1000 + rand(100)



fact(abs(floor(12 cos(sin(x + sin(y)))))) + fact(abs(floor(11 sin(y + cos(x + sin(y − x)))))) + y



22 cos(x) + 22 sin(y)



tan(x2%y) floor(cos(x)) + sec(y2%x) floor(sin(x)) + csc(x/y) floor(cos(y)) + cot(xy) floor(sin(y))



Formula lost (uses polar and mods)



Formula lost (uses polar and mods)



Formula lost (uses polar and mods)



floor(x/y)y + x%(y2)



sgn(sin(x− cos(y + sin(x) + y))) + sin(x + y)



sgn(sin(x−cos(y+sin(x)+y))) sgn(sin(x)+cos(y))+sin(x+y+cos(y−sin(x)y))



1/(110 sin(x)& cos(y)120)



1/(110 sin(x)& cos(y)120)



√
tan((100 sin(x)&100 cos(y))20 cos(x)& sin(y)20)



(sin(x + cos(y − sin(x) + y sin(x))))100 sin(x)& cos(y)100



100 sin(x)&100 cos(y) + 100x/y



xy&yx



floor(x) floor(y)



x&y + cos(x)



riem(x + cos(y − x) + riem(cos(x + riem(y)) + x))



riem(x + riemc(y − x) + riem(riemc(x + riem(y)) + x))



riem(x + riemc(y − x) + riem(riemc(x + riem(y)) + x))



riem(x + riemc(y − x) + riem(riemc(x + riem(y)) + x))



riem(x + riemc(y − x) + riem(riemc(x + riem(y)) + x))



riem(x, 100) riem(y, 100)



(x|y)− (x&y)



sin(x)% cos(sin(x)% cos(y))



riem(x, 10) + riem(y, 10)



sgn(sin(x) + cos(y)) + sgn(sin(x) cos(y)) + sgn(sin(x/2) + cos(y/2))



!(cos(x) + sin(y))+!(cos(x)− sin(y))+!(sin(x)− cos(y))+!(sin(x) + cos(y))



!(cos(x) + sin(y))+!(cos(x)− sin(y))+!(sin(x)− cos(y))



!(cos(x) + sin(y))+!(cos(x) − sin(y))+!(sin(x) − cos(y))+!(sin(x) − 2 cos(y))+!(sin(x) + 2 cos(y))



!(2 cos(y)%x)+!(2 sin(x)%y)



!(2 cos(y)%x)+!(2 sin(x)%y)+!(3 cos(y)%x)+!(3 sin(x)%y)



!(2 cos(y)%x)+!(2 sin(x)%y)+!(3 cos(y)%x)+!(3 sin(x)%y)+!(4 cos(y)%x)+!(4 sin(x)%y)



(sin(x) + cos(y))% cos(x)% sin(y)



(sin(x) + cos(y))% cos(x)% sin(y)



(sin(x) + cos(y))% cos(x)% sin(y)% sin(2x)% cos(2y)



(cos(x) + sin(y))%(x% cos(y) + y% sin(x) + x% sin(y) + y% cos(x))



(cos(x) + sin(y))%(x% cos(y) + y% sin(x) + x% sin(y) + y% cos(x))



(riem(x, 10) + sin(y))%(riem(y, 10) + cos(x))



(riem(x, 10) + sin(y))%(riem(y, 10) + cos(x))



(floor(x))%3 + (floor(y))%2 + floor(10(sin(x) + cos(y)))%2



floor(10(cos(x) + sin(y)))%(x& floor(10(sin(x) + cos(y))))



(floor(10(cos(x) + sin(y))))&(x& floor(10(sin(x) + cos(y))))



(x2 + y2)%(5 riem(x, 10) + 5 riem(y, 10))



x%(2&x) + sin(y)%(2&x) + y%(2&y) + cos(x)%(2&y)



(1&x) + (2&y) + (3&x) + (4&y) + (5&x)



(1&x)+(2&y)+(3&x)+(4&y)+(5&x)+(2&x)+(x&y)



(1&x)+(2&y)+(3&x)+(4&y)+(5&x)+(2&x)+(x&y)



((x2 + y2)&(x2 − y2))



sin(x) + cos(y) + sin(2x) + cos(2y) + sin(3x) + cos(3y) + sin(4x) + cos(4y) + sin(5x) + cos(5y)



sin(x) + cos(y) + sin(3x) + cos(3y) + sin(5x) + cos(5y)



sin(x) + cos(y) + sin(4x) + cos(4y) + sin(8x) + cos(8y)



sin(x) + cos(y) + sin(4x) + cos(4y) + sin(8x) + cos(8y) + sin(12x) + cos(12y) + sin(16x) + cos(16y)



riem(x + riemc(y − x, 80) + riem(riemc(x + riem(y, 80), 80) + x, 80), 80)



max(x, y)+max(sin(x), cos(y))10+10 max(cos(x), sin(y))



riem(t, 20) riem(r, 20)



(r riem(t, 10))2 + (r riemc(t, 10))2



riem(r2, 10)− riemc(2t, 10)



sin(t)− cos(2r)



r%t + sin(r)% sin(t) + cos(r)% cos(t)



sin(t)% sin(r) + cos(t)% cos(r)



sin(t)% sin(r) + cos(t)% cos(r) + sin(2t)% sin(2r) + cos(2t)% cos(2r)



sin(t)% sin(r) + cos(t)% cos(r) + sin(2t)% sin(2r) + cos(2t)% cos(2r)



sin((y4 − xy3)/(y4 + 1))− cos((x4 − 3x3)/(x4 + 1))



cos(x2 + 2) + sin(y2 + 2)



riem(x, 10)%y+riem(y, 10)%x+riem(x+y, 10)%(x−y)+riem(x−y, 10)%(x+y)



cos(x%y)% sin(y%x) + sin(x%y)% cos(y%x) + sin(y%x)% cos(x%y) + cos(y%x)% sin(x%y)



cos(x%y)% sin(y%x) + sin(x%y)% cos(y%x) + sin(y%x)% cos(x%y) + cos(y%x)% sin(x%y)


